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1. Here is a probability line.
V_ 0 1 2_1 3 L 1 (as a fraction)
4 4 4 2 4
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0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 1 (as a decimal)
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(a) Copy the labels onto this incomplete probability line.

— = (as a fraction)

4 4 42 4
! ! !
o . . . . . | . . 1 (ssadecimal
|\\H|\H\|HHl\\\\l\\\\l””l”\\l\H\lHHlHHl\H\lHHl\\Hl\H\l\\\\l\\”l\”\l\\\\lHHl\H\l
0% 100% (as a percentage)
1 1
(b) Complete T % 5= 50 % % = %

probability: single (1) answers Q1: (a) check carefully (b) 25%, 50%, 75%

1 2 4
Q2 (a) 10%, 20%, 30%, 40%, 50%, 60%, 70%, 80%, 90% (b) 5= 20%, 5= 40% % =60%, 5= 80%
1 2
Q3: 3= = 33 (and a bit) % (iii) 3= 66 (and a bit) %
1. Here is a probability line.
% =0 i z - % 2 — =1 (as a fraction)
| ! !
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 1 (as a decimal)

0% 10%  20% 30%  40%  50% 60% 70% 80% 90% 100% (as a percentage)

(a) Copy the labels onto this incomplete probability line.

— = (as a fraction)

e 4 4 2 1
l l |
0 1 (as a decimal)
|\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l\\\\l
0% 100% (as a percentage)
1 1
(b) Complete 7= % 3= 50 % 2 = %
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2. (a) Complete the percentage labels on this probability line.
0 1 2 3 4 5)
5) 5 ) 5} 5) )
| | l l | l
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 (as a decimal)
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O% e Py e e Py e e e e 100% (as a percentage)
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(b) Complete (i) = = ....... % (i) T e % (iii) T % (iv) T e %
3. Here is an incomplete probability line.
1
0= g 3 g 5 _ 1 (as a fraction)
| | | |

|HH|\H\lHHlHHlHHlHHlHHl\\HlHHlHHlHHl\H\lHHlHHl\H\lHHlHHlHHlHHlHHl
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100% (as a percentage)

Complete (i) 5 = 33 (and a bit) %  (ii) 5 = 66 (and a bit) %

2. (a) Complete the percentage labels on this probability line.

0 1 2 3 4 5

5 5 5 5 5 5
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0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 (as a decimal)
|\H\lHHl\H\l\H\lHHl\H\l\H\lHHl\\Hl\H\lHHl\\Hl\H\lHHlHHl\H\l\\\\l\\\\l\\\\l\\\\l
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(b) Complete (i) = = ....... % (i) i % (iii) E % (iv) il %
3. Here is an incomplete probability line.
0= g % % g =1 (as a fraction)
|
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Complete (i) 5 = 33 (and a bit) % (i) Tl 66 (and a bit) %
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